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INSTRUCTIONS
I. Al questions are of objective type having four answer options for each. Only one option is
correct. Correct answer will carry full marks 1. In case of incorrect answer or any
combination of more than one answer, % mark will be deducted. :
2. Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B.C.orD.
3.  Use only Black/Blue ball point pen to mark the answer by complete filling up of the
respective bubbles.
4. Mark answers only in the space provided. Do not make any stray mark on the OMR.
5. Write question booklet number and your roll number carefully in the specified locations of
the OMR. Also fill appropriate bubbles.
6. Write your name (in block letter), name of the examination centre and put your full signature
e in appropriate boxes in the OMR.
7.  The OMR is liable to become invalid if there is any mistake in filling the correct bubbles for

e

10.
1.

question booklet number/roll number or if there is any discrepancy in the name/signature of
the candidate. name of the examination centre. The OMR may also become invalid due to
folding or putting stray marks on it or any damage to it. The consequence of such
invalidation due to incorrect marking or careless handling by the candidate will be sole
responsibility of candidate.

Candidates are not allowed to carry any written or printed material, calculator, pen, log-table,
wristwatch, any communication device like mobile phones etc. inside the examination hall.
Any candidate found with such items will be reported against and his/her candidature will be
summarily cancelled.

Rough work must be done on the question paper itself. Additional blank pages are given in
the question paper for rough work.

Hand over the OMR to the invigilator before leaving the Examination Hall.

This paper contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is/are found
between the two versions, the information provided in the English version will stand and will

be treated as final.
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LIFE SCIENCES (¥ fwm)
1 The first genetic material could be
(A) Protein (B) DiSg (C) RNA (D) Carbohydrates
sy forme 8 oMo T -
(A) Tos (B) DNA (C) RNA (D) JATEEE

Analogous organs arise due to -

re

(A) Artificial selection IBYY Genetic drift
(C) Convergent evolution (D) Divergent evolution
T8 WA B oA R -

13

@) IR ®) BRgmm () sReRRdeD) wERRE o

3.  The movement of Mimosa (Touch — me-not) leaflet is
(A) Photonastie (B) "l'hermonastic (C) Seismonastic (D) Chemonastic

(A) mﬁm'(la) woRfE sem  (C) M@ sem (D) RIS bei

4.  Which of the following hormone is not secreted by human placenta ?

(A) hCG (B) Estrogen: . (C) Progesterone (D) LH
@ TACHHG SH3 (0 B 24402
(A) hCG (B) ErHTE (C) #@THH (D) LH

In the F, Generation of a Mendelian dihybrid cross the number of phenotypes and

genotypes are- _ :
() Phenotypes —4; Genotypes — 9 (B) Phenotypes — 9; Genotypes — 4
(@P’ Phenotypes 4; Genotypes — 16 (D) Phenotypes — 4; Genotypes — 8

MMWMMW?@MMWﬁGWmm

-4; foCABIE -9 : (B) BTADBE#-9; Al -4
; forcoTE-16 (D) fITAIGIR1-4; FECABE -8
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ANM(R) & GNM-2021

6.  Rhizome of ginger. tuber of potato, tendril of pea plant are called -

(A) Homologous organ (B) Analogous organ

(D 1 ransplanted organ

(C) Vestigial organ
W sffrs, Wi ~ P, 1 e wad  endy o ?

ol b (B) g8

(€) ety o (D) effoufs S%

7. From which cell of testis. is testosterone hormone secreted ?

(A) Stem cells (B) Germ cells
(C) Sertoli cells (D) [nterstitial cells

ST (I I (/0 BrBIBadt TR s 24 7

(A) THITE/M . (B) i
(C) oifer TIr (D) ToRFEFEE P

8. Nucleolar organizer region is found in -
(A) Primary Construction (B) Secondary Construction

(C) Satellite region (D) Telomere region

ARG ASAIIR wees Tl T
(A) 2R = (®) U e
(C) TMGZE WeTA (D) TR A A8 S
9.  Which of the following is commonly used in Blood bank to prevent clotting of blood ?
(A) Heparin (B) Hirudin
(C) Sodium Citrate (D) Calcium Citrate
mmwmmmtﬂw E3 A
(A) A (B) fefen
(C) e ARG (D) STeAfSram 13Es
ANM(R) & GNM-2021 (Shift-1) S -
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10.
of incomplete dominance.
(A) 3:1 (B) 1:2:1 (C) 9:3:3:1 (D) 2:1:1
s G S ST TR e ey AT At s 2
(A) 31 (B) 121 (C) 9:3:3:1 (D) 2:1:1
11. When you add yeast to dougly, it rises because
(A) yeast cells reproduce by budding
(B) budding yeast cells from chains
(C) the rapidly reproducing yeast cells release carbon dioxide due to respiration
(D) of the bulk of the new yeast cells
N WA SIER Y 28 T I3 G 3% =19, 9 3194 2
(A) TIREEMAN e 7o 28 (318 (o 24|
(B) o4 (A3 (IRTEMAN e 7o 28 (o 23|
(©) TS T I NS TV THI YA ¥ I TIF LS A7 |
(D) e “ffwet B3 TofEf
12.  Which hormone delay leaf senescence ?
(A) Auxin (B) Cytokinin (C) Gibberellin (D) Florigen
@R TACHH A6 [FATS A ?
(A) ¥ (B) ‘TEEREFR () faEERW (D) TR
13. If the chromosome number of an endosperm of a plant is 3n = 27 then the number of
chromosomes in ovum will be
Aa) 9 ~ (B) 18 © 27 (D) 36
s SRS T TERICAIEN el 3n=27 ¥ ORTA @ Sfgrra xR e HAl
IOE?
(A 9 (B) 18 «) 27 - (D) 36
14. The part of potato involved in vegetative propagation is
(A) Seed (B) Root (C) Stem (D) Leaf
PrafARS @ S R e, e S 771 0 7
A) = B) T ©) (D) et
ANM(R) & ( GNM.2021 (Shift-1) S e T P
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Select what would be the genotypic ratio of F, generation of a monohybrid cross in case

¥
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Balance of body controlled by

(A) Cerebellum (B) Cerebrum

(CY Pons (1) Medulla Oblongata
eTee weww Ruye a0

(A) "N Wi N eexie (C) rwws (D) e

Other name of Christmas disease 18

(A) Haemophilia A (B) Haemophilia B
(C)  a-Thalassemia (D) P-Thalassemia
> ferery wor aw e

(A) ReefefrmA  (B) ReefefmB  (C) o Wi (D) PR

Hinge joint are present in -

(A) Neck (B) Shoulder (C) Skull (D) Knee
few o sy -

(A) W (B) (©) W@l (D) Wgrs

Which bacteria converts nitrite into nitrate ?
(A) Nitrobactor (B) Nitrosomonas (C) Clostridium (D) Thiobacillus
R R TRARDE NRAE e
(A) TGRS (B) FR@CWEAE  (C) F@EWR (D) v

Haemophilus Influenzae Type — B vaccine is
(A) Conjugate vaccine (B) Toxoid vaccine
(D) Live, attenuated vaccine

(B) barws Ora
(D) Wfaw @ B

- . —————— ———— . — - ——— —
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15.  Which animal amongst these show regeneration properties ?

i

(A) Sycon (B) Snail (C) Mussel (D) Planeria

SRR AR (BT (1R T T (7 T 7

(A) AEIH (B) g (©) fas (D) et
16. Which part of the brain acts as relay center ?

(A) Hypothalamus (B) Thalamus (C) Pons (D) Cerebellum

WRew R e A 3y TR e R

(A) TR (B)  QEEH | (C) =, (D) TARCET

17. Identify which of the following is not a structural component of RNA ?
(A) Ribosesugar  (B) Urasil base (C) Thymin base (D) Phosphoric acid
52 D RNA 93 T579S Somra 73 2
A) WEEAET  (B) [/AEEEE  (©) MR (D) TR W

18. Chromosome having centromere near its tip is
(A) Acrocentric (B) Telocentric (C) Acentric (D) Metacentric
S ST DR S S e S A O
(A) SECHRE (B) OEErGE (O Worke (D) woTThE

19. In which of the following stage does DNA duplicate ?

(A) M -stage (B) G, Stage (C) S -Stage (D) G, Stage
M52 @A T8 DNA-G7 e fawd 23 2
(A) M- (B) G, (C) S D) G,-w

20. The theory was not postulated by Darwin was —

(A) Survival of the fittest (B) Natural selection
(C) Struggle for existence (D) Inheritance of acquired characters
RBER TGIW (I TGHE TE I A ?
(A) TEECHR TAadH (B) a3 Fdww
(C) g = AW (D) fers AfER Teafes
ANM(R) & GNM-2021 (Shift-1) o ST TR S
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Select the right answer

A Helium atom contains

(A) four protons and four clectrons,

(B) four neutrons and four electrons,

(C) four protons and two electrons.

(D) two protons, two neutrons and two electrons.

e Suwld fAdma 33

@ R RN AF

(A) SR coBs ¢ bR Bl (B) b1 G @ b1 ZCAR

(©) 5 ttw ¢ 9 Rredw (D) @mﬁ,iﬁﬁﬁﬁﬂe‘iﬁw

Atomic density of oxygen and nitrogen are respectively 32 and 28, Also a'l_ ;\g;m}ill
temperature and pressure, the volume of 32 gram of oxygen is 22.4 litre. What wil the
volume of 28 gram of nitrogen at the same pressure and temperature ?

(A) 224 litre (B) 19.6 litre . (C) 25.6litre (D) 44.8 litre

SR ¢ TREEER SHRE oFg IASFCH 32 ¢ 28 | o Twer @ Bt 32 AW
SRS S 22.4 F03 | OIEEH @ qF% TEt @ BITeY 28 AW ARECACTH FARST FO

TR?
(A) 22.4f0m (B) 19.6 @or (C) 256f®m (D) 44.8 f0=

Which of the following is a vector quantity ?

(A) Weight (B) Mass (C) Area (D) Time
vz @D 1S3 A 2
(A) s&« (B) ©F (C) THaTA (D) FNH

A student was cycling to her school at a uniform speed 10 m/sec. She pressed the brake
near the gate of her school and stopped in 5 sec. How much force she applied through the
brake ?

Consider the mass of the student and the cycle together is 50 kg. -

(A) S0N (B) 200N (C) 100N . (D) 10N

GFE TR 10 m/sec ANARTS HZCE SIfeT FC AR | FLA4 TIH AN 901 T JF
571 @ 5 TRTST T TA0H T | RAD R HC IS I et FARTA 7 403 S,

TIA @ B[S (90 ©F 50 kg |

486 :
(A) 5086 (B) 200 %5 (©) 100f8s (D) 10w

Select the right answer.
An object will float in a liquid while completely immersed when

(A) its weight and the buoyancy are equal.  (B) its weight is less than the buoyancy.

(C) its weight is more than the buoyancy. (D) both weight and buoyancy are zero.
“ye Todd Fdwa 32

G2f> g TR warE oo e SR ormF Te 1w

(A) 9 GEH S US| A T | (B) T QW AIOH (ACEF F3 7|
(C) T3 ST ZATA [T 3N 2| (D) Y ST 8 AT {2-T [ T |

———— e —
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! PHYSICAL SCIENCE (081 f®()
26.
Which of the following is an electrovalent compound 7

) Catly (B €O, (¢') NaCl (D) H,0
fRCaTes ttwefere wo cam® wrufty o ¢
) Ca}l’ (B) CO2 (C) NaC'l (D) H,0

”0 mhw&mmr
.w of monochromatic Ilghl of red colour passes

through a prism, we get on the

Ml coloured band of light 4
an lilht of colours violet, indigo, blue, green, yellow, orange and re

the followmg elemcnts does not easily participate in any chemical

@) ‘sodmm ©) Arsm (D) Nickel
mammmmmwnwwm

(B) AN (©) e (D) f=
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gas are respectively Vi and P,

y amount of an ideal
emperature

38. If the volume and pressure of a certait : :
at an absolute temperature T; and V, and P, respectively at another absolute t
T.. then which of the following equivalence relation is correct ?
PV, PV, P\T, P
A) ——L--2-2 B TN
(' T, B I 2
- Ly » VT, = PyV,T |
(C) V.T. - V.T (D) IIVIII =aVaolg |
1°1 292
W gl RS s e s e T, sfan TR SATH @ 519 U@V, 8 P
T R T, A SWE WHFH V, 8 pgnwﬁmwmmﬁm?
P.V, P,V P, T, P,T, 3
A e (B) S malnt
1 2 1 2
P, P
39.  When parallel rays of light coming from a faraway distance falls on a concave mirror
parallel to its main axis, they meet at a point after reflection. This point is called ;
(A) pole (B) centre of curvature (C) focus (D) axis
RIS GIGPE A SEAPI GI0 TAetw Ao gy F I[kE WA 2
efewarg o7 @3 Reyre fifere 73| o1 fraee 3=
(A) TF (B) WY  (C) WM (D) o
40. Suppose that the focal length of a convex lens is f. The if an object is placed at one side

of the lens on its axis at a distance 2f ,
(A) An inverted image will be created on the other side of the lens at a distance f.

(B) An erect image will be created on the other side of the lens at a distance 2f.

(C) Anerect image will be created on the other side of the lens at a distance f.

(D) An inverted image will be created on the other side of the lens at a distance 2f.
g‘fmmmmm f | ORE e wﬁwwtﬂaﬁa'zf
(A) TAC™R S AT £ g 93fd wramg afefm 9® 2w

(B) AU ot T3 2f 7RG 9 7 efffey 3 2z

() T W At £ arg ol T sy 3B 2t

(D) TeCra e e 2f ATy o e efffay i 2

A0 0 108 1 S o 00 — -
B e LT —
e T e ————

ANM(R) & GNM-2021 (Shift-1) 10 D
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35. Suppo
i se that a g 2 :
makes a Sa(uw:e:ny certain temperature, 20 g of common salt dissolved in 50 g of water
solution. Then what is the solubility of common salt in water ?

(A) 70 (B) 40 () 30 (D) 1000
m“m A SIN@ny so g §TH 20 g e Fa o qafd e Ha9 ANSHl T |
SIRT WA @ AR WS T ¢

™ 7 (B) 40 ©) 30 (D) 1000

36. lnlthe f°||0\~1'ng table select the correct matching between the compounds named in first
column and the classification names given in the second column.

Compound Classification

1. _CaO a.  Acid .

2. NaOH R Hase -

3. iCaCl, ¢. Alkali

4. HNO, d. Salt
(A) 1-b, 2-c, 3-d, 4-a (B) 1-a, 2-b. 3-¢. 4-d
(©) 1-d.2-c,3-a,4-b (D) 1-b, 2-d, 3-c, 4-a
A RS e s s oo FF e aCs (e T TSl 5w ATG
g =)

Compound Classification
“& | 1. CaO a. ST
S 2. NaOH b, WS
, 3. CaCl, c. W3

(A) 1-b,2-c, 3-d,4-a (B) 1-a, 2-b. 3-c, 4-d

(C) 1-d, 2, 3-a,4-b (D) 1-b, 2-d. 3-c, 4-a

37. Select the right answer.
If a ball is thrown straight upward then when it reaches its highest position, its
(A) potential energy is zero and Kinetic energy is also zero.
(B) potential energy is maximum and Kinetic energy is zero.
(C) potential energy is zero and kinetic energy is maximum.
(D) potential energy is equal to kinetic energy.
e Taafd fAd5d 73|
2 3= e $o1 BTy FTet TS 3 o1 A4iee SRE ARy O oI
(A) fefenfe =y ¢ sfexfems 9o za) (B) fefonfe s g sfomfEs wor 23
(©) fifofe s fforfe @iz znr (D) o o oo sam

L —
- —— - —— - - " " — PESTRI TR
o rr——— — - — . ——

D
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st (’5‘: ) ake the sentence

ENGLISH GR : o
. L " /i o m
46. Fill in the blank with the most appropriate word/group of WOt
meaningfully complete. 1 the street
The sded and tore €t :
The horse stampedec (C) down (D) out

(A) after (B) off .
e 8 3 ak > gentence

47. Fill in the blank with the most appropriate word/group of words to make the se

meaningfully complete. : e il

Mohan tries his besttokeep _____ the reputation of his family. DY /on

(A) wp (B) over () to (
48. Find out which part of the sentence has an error. ) f

If we have faith in Almighty  everything will turn out / to be alright and safe

(A) (B) ©) (D)

49. Choose the word, which has nearly the same meaning as ADMONISH.

(A) Praise (B) Appeal (C) Support (D) Rebuke
50. Choose the word, which is opposite in meaning to JEER.

(A) Clear (B) Mock (C) Praise (D) Sneer

51. Choose the word that can replace both the words in bold italics in the two given

sentences. _
I The management did not find him switable for the job of a clerk.

II.  Akash could not arrange all parts of the machine properly. :
(A) fit (B) employ (C) finish (D) adjust

52. Choose the word, which can most appropriately replace the bold italicized words in the

given sentence.
A person can be sentenced to death for killing another human being.

(A) patricide (B) homiciil,ih (@1\;‘%\"‘ © genogde Y | (D) fratricide

53. Choose the option, which can best replace the group of wﬁ?s given :

‘One, who possesses varied talents’
(A) versatile (B) talented (C) gifted (D) excellent

Observe the two italicized words in the following two sentences and
observation by choosing any one option below.

I.  We should not interfere in one’s personal affairs.

I.  The personnel of civil services are a proud lot.

(A) Only sentence-I is correct. .

(B) Only sentence-II is correct.

(C) Both sentences I and II are correct.

(D) Neither sentence I nor sentence II is correct.

give your

55. Choose the most effective word to fill in the blank to make the sentence meaningfully

complete.

Only those who have completed seventeen years of age are to apply for the
examination.

(A) eligible (B) legible (C) selected (D) illegible

A i e

ANM(R) & GNM-2021 (Shift-1)
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45.
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ARITHMATIC (onfhfae)

y 4. 6 and 10, the resultant

Whe : .
nun:tt:ea cenam- number is added to ecach of the numbers -
TS are ratio n.etric. What is that number 7 ‘
(A) ; (B) 4 () (D) %
2. 4. b 6 l() '\g‘ ::" ‘5‘{3‘1 m m !:‘v (mﬂ er a fl;'q,ft‘\'a'-" },-‘:"j:.'{f’a ‘Ca ?
(A) 3 B 4 o s e
ly rate of s of population 15 2x%e

“» the present population of a village is N and the year
what will be the total population after 5 years 7

X £

(A) N(l+%}’ (B) \]:(«)y
X t*
” &1
o3 PRT TEWH TR N ﬁmmzwnqmm-x%w s qgd AT
AN I LR ?
X f }_)5
(A) Ntl*m (B) NLI‘SO
x )5
© x(-3 o (134
A solid brass sphere of diameter 42 cm is hammered to make a 7 em long cylinder. What
will be the diameter of the cylinder ?
(A) 84cm (B) 42cm (C) 2lcm (D) 7cm

42anmmmﬁmﬁmcmﬁﬁmmhmmmwzdrm
Tl I IS I ?
(A) 84cm ®) 42cm © 2lem (D) 7em L’fyg"/’}‘”u

-
Ram and Madhab together completes a job in 4 days. If they work separately, Madhab
needs 6 more days than what Ram needs to complete the job. In how many days will Ram

alone complete the job ? (Lx"’“ Hz\i\t
(A) 12days (B) 3 days (C) 6days (D) 9 days o i \
2§ R GIT < I 4 P TTE I | A SR IO FAA AW TS FF T (S
S, SR OF 5T 6 ) TR 70 <0t | 3 31 I I AT T A 2

g 12 B) 3= ©) 6% (D) 9f=

Ratio of volumes of two cubes is 1;27. The ratio of their total surface area is
(A) 1:3 (B) 19 © 18 (D) 1:18
qsmmﬂﬁmmmwmmmwm
(A) 13 (B) 1:9 (C) 1:8 (D) 1:18

— — ———. ——— — —— ] — — & —
- — ——— — S S s S R S




ANM(R) & GNM-2021
% Mol GEI"JERAL KNOWLEDGE (s ®19)
it B glutamate is commonly known as
g powder (B) Table salt (C) Vinegdl
Sleil IO -3 et wira N qen wu 2
(A) TR mBure (B) Mg #ae ()

(D)  Ajinomoto

ferAd (D) sn-ferran-candt

Which one of the following is the largest gland orgarn in human body 7
(A) Heart . (B) Liver (C) /\ppcndi\ (D)
N M W s gz o 2

A = B) fren (©)

Stomach

s e (D) =g

*Jungle Book' was written by
(B) Anita Desai

(A) Satyajit Ray

(C) Charles Dickens (D) Rudyard Kipling

“Jungle Book’ ¥2fb fefrefer=ia

(A) effere A B) e (1R
(© B T (D) wezms e

m”as the new official name of the city ‘Allahabad’ ?

(A) Prayagraj (B) Sarabhai Nagar

(C) Yamuna Nagar (D) Sangampuri

GARIAM R TP AN F2

(A TN (B) RIS o

e (D) R

Second world war ended with the defeat of Germany in the year of

(A) 1925 (B) 1965 (C) 1945 (D) 1955
2w e e raercas e Tl e o 2w 2

(A) Swke (B) e (C) d»8e (D) s»ee

ANM(R) & GNM-2021 TR A T
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LOGICAL REASONING (ﬁW

where the two given words ha

ve the same relationship ag,
61. Find the right option below

‘LIGHT - CANDLE’

r — Battery
(A) Exercise — Strength (B) Powe

(C) Dieting - Overweight (D) Car—Engine

62.  Choose the right option which will complete the first word and begin the second word,
EX(...)ACLE

() “pett (B) pect (C) pire (D) tent
63.  Select the right option that will replace the question mark and continue the pattern.

Seaen (.

Choose the right option.

b=

64. Which of the following figures does not belong to the series ?

F'uulﬂae odd one out
(A) Apﬂl - (B) May (C). July

!
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